MURPHY, HESSE, TOOMEY & LEHANE, LLP

Attorneys at Law

TEL: (617) 479-5000

50 BRAINTREE HILL OFFICE PARK SUITE 410 BRAINTREE, MA 02184-8724 TIN# 04-2940187 FAX: (617) 479-6469

Billing Summary

Pamela MacDonald, Assistant Superintendent for Student Services Malden - Special Education Malden Public Schools 77 Salem Street Malden, MA 02148 Statement Date:

03/26/2024

Bill No.

150081

Client/Matter No.

MALD01

Billing Through 02/29/2024

	Current Fees	Expenses	Advances	Balance
MALD01-00001 General Ongoing	11,656.95	0.00	0.00	\$11,656.95
MALD01-00271 - Public Records Appea	l 79.50	0.00	0.00	\$79.50
	11,736.45	0.00	0.00	\$11,736.45

OKAY TO PAY



OKAY TO PAY

MURPHY, HESSE, TOOMEY & LEHANE, LLP

Attorneys at Law

TEL: (617) 479-5000

50 BRAINTREE HILL OFFICE PARK SUITE 410 BRAINTREE, MA 02184-8724 TIN# 04-2940187

FAX: (617) 479-6469

Pamela MacDonald, Assistant Superintendent for Student Serv

Malden - Special Education Malden Public Schools

Statement Date: Bill No. Account No.

March 26, 2024 150081 MALD01. Page: 1

77 Salem Street Malden, MA 02148

RE: MALD01-00001

General Ongoing

Billing Through: 02/29/2024

<u>Fees</u>

02/01/2024	FSC	Emailed Ms. Dorai on public records request	Rate 270.00	Hours 0.20	Amount 54.00
	JRD	Composing responses to OML Complaints	265.00	6.00	1,590.00
02/02/2024	JRD	Composing responses to OML Complaints	265.00	6.50	1,722.50
02/04/2024	FSC	Reviewed OML responses	270.00	0.20	54.00
02/05/2024	FSC	Reviewed public records responses and conferenced with Attorney Donnelly; Emailed Ms. Doral	270.00	0.60	162.00
	JRD	Composed responses to OML Complaints	265.00	5.00	1,325.00
02/06/2024	FSC	Redacted minutes; conferenced with Ms. Dorai	270.00	0.80	216.00
02/07/2024	FSC	Reviewed public records	270.00	0.30	81.00
	JRD	Reviewed additional Open Meeting Law Complaints; conferenced with Attorney Felicia Vasudevan concerning responses; composed request for extension of time to respond for all additional OML Complaints to AG	265.00	2.50	662.50
02/09/2024	FSC	Conferenced with Attorney Greenspan and Attorney Donnelly on OML responses	270.00	0.30	81.00
	JRD	Revised response to OML Complaint based on Committee feedback; sent response to requester	265.00	0.75	198.75
02/12/2024	FSC	Emailed on public records responses	270.00	0.20	54.00
	JRD	Composed responses to 6 OML Complaints and sent to Complainant	265.00	5.50	1,457.50

Malden - Special Education MALD01-00001		Statement Date; Bill No. Page No.			
			Rate	Hours	Amount
02/16/2024	JRD	Composed responses to Open Meeting Law Complaints and sent to Complainant	265.00	4.50	1,192.50
02/20/2024	JRD	Composed responses to OML Complaints and sent responses to requester	265.00	5.75	1,523.75
02/21/2024	FSC	Emailed Ms. Dorai on public records requests	270.00	0.10	27.00
	JRD	Reviewed and revised draft Public Records Response	265.00	0.75	198.75
	JRD	Composed response to OML Complaint and sent response to requester	265.00	1.25	331.25
02/22/2024	JRD	Composed response to OML Complaint; sent response to requester	265.00	2.00	530.00
02/25/2024	FSC	Emailed Ms. Doral on public records request	270.00	0.20	54.00
02/27/2024	FSC	Emailed on agenda for upcoming school committee meeting	270.00	0.10	27.00
	JRD	Reviewed question concerning Public Records request and composed email with advice on response	265.00	0.33	87.45
02/28/2024	FSC	Emailed on public records requests	270.00	0.10	27.00
		For Services Rendered		43.93	11,656.95
		Recapitulation	Rate	Total	
Timekeeper Hours Felicia S. Vasudevan 3.10		270.00 \$8	37.00		
		s Donnelly 40.83	265.00 10,8	19.95	
		Total Current Fees and Expenses			11,656.95
		Total for This Matter			\$11,656.95

Statement Date: 03/26/2024

Bill No.

150081

Page No.

Malden - Special Education MALD01-00271



Billing Through: 02/29/2024

<u>Fees</u>

Rate Hours Amount 79.50 265.00 0.30 opposition to motion to dismiss. 02/06/2024 MHP Review of 79.50 0.30

For Services Rendered

Recapitulation

Total Rate <u>Hours</u> Timekeeper \$79.50 \$265.00 0.30 Madison Harris-Parks

79.50 **Total Current Fees and Expenses**

\$79.50 Total for This Matter

\$11,736.45 **Total Balance Due**